4ut October
Complebed Erercises from the fectuce on
{ Nincar Equakions in one variable )
1 fosy , Page 2-13 ;
0. Mediwm, pose dy-16 ;

Con be found below .



ID: 6ac23de7

4x _Inthe equation above, what is the
5  “valueof x?
A. 25 5
lif < a . K = 2o X —
B. 24 5 5 4
C.16
5
D.15 -4 S % = 2o &
5 1
2



ID: 7392dfc1

Which of the following is
equivalenttodx+6=127

A 2x+4=6
B.x+3=3

C.3x+2=4

D.2x+3=86

ux+6 =12
%(lxﬁ)*—izl 5 2Ax+3= 6



ID: 93954cfa

One pound of grapes costs $2. At this rate, how many
dollars will ¢ pounds of grapes cost?

A 9c

242 4+ 24+-1+2=2C

B.2+c¢



ID: 3d04de9c

A principal used a total of 25 flags that were either blue or yellow for field day. The principal used 20 blue flags. How
many yellow flags were used?

AB

B. 20 25 - & + W

C.25

a0 ;)_5 2o+ M (—— 20)

5= 26-20 =



ID: 6071697

x = 88 What value of  is the solution to the given equation?
A 11 5

B. 80

C.96

D. 704



ID: 550b352¢

10=2x+4

How many solutions exist to the

equation shown above?

A. None

B. Exactly 1

C. Exactly 3

D. Infinitely many

lo -4

\0 -4




ID: ed18c4f7

W) 3 =N
Cathy has n CDs. Gerry has 3 more than twice the number of CDs that Cath
has. In terms of n, how many CDs does Gerry have?

A.3n-2

B.3n+2 Caﬂ*g n
c2n-3 Gery: 3+ 2

D.2n+3



ID: 9ff10b3b

1 1

Ifix_gx:1,whatis
the value of x ?
A —4 o (b+O=a btac
1
B. 3 | | {
— Rr- =X =
C.3 - 6
D. 6
x(é’é—) -1
3 j— { _ 4
2-"N-4 a9 x- Lo
d : 6) ?
3 %x=3



ID: 4f7981a0

If 3x¥ +2 =8, what is the

valueof Ay +5 ?

IN+2L = B

Qr+ 6 = EH

(*3)



ID: 4668129

A librarian has 43 books to distribute to a group of children. If he gives each

child 2 books, he will have 7 books left over. How many children are in the
group?

A 15 P: 4?3
B.18 9.¢

C.25

D. 29

43- 2-¢ = f —43

_2.C. - £-u3 4

c= 120 - 13



ID: e53870b6

bx+k=06x+5

In the given equation, k is a constant. If the equation has infinitely
many solutions, what is the value of k ?

Lyt K= 6%X15

K=5

6%XL5 = 6%+5 is tne
$ov o KI_

X=R



ID: 7a5a74a6
3(2x—6)—11=4(x—3)+6

If x is the solution to the equation above,
what is the value of X — 3?2

23

—S N )
A 72 3(2%-6)- | = U(x-3) +6

A7

5.2 byl 1 = ax—12+é

—_—
EC) -29
c. 2

_

HX-29~ Hx-6

-6

e Q¥ :6)‘”‘4)‘:“6"'93-’—93

X -3 - £2

Anothar woy:

3(2x-6)- W= {(x-3) +6
3[2 (x-3)] -1l = 4 (x-3) 46
6 03 =1l = {(x3) 46
6. (x-3) = (&3 +I+
H(x-3)-H(x-3) = IF
2(x-3) = |7 %

A
2

(+1)

[-40x-2 )

I (x-3)=

PIQ

(+29) (~4x)



ID: aa85b138

2n+6=14

A tree had a height of 6 feet when it was planted. The equation above can be used
to find how many years n it took the tree to reach a height of 14 feet. Which of the
following is the best interpretation of the number 2 in this context?

X The number of years it took the tree to double its height

B. The average number of feet that the tree grew per year

K The height, in feet, of the tree when the tree was 1 year old

D. The average number of years it takes similar trees to grow 14 feet

Qn+6=1y
2 y+b=ly

=
(
e

q
\gws4iq

gt a4 yrs
2%t w4 oy



ID: 15daa8d6

2z + 16 = a(z + 8)

In the given equation, a is a constant. If the equation has infinitely many solutions, what is the value of a?

Qx+36= a(x+3)

Q~(x+8):a,(:c+8)

0'005"“} a=2Z ?)VQA a Sffafmwt Lt for ary z !



